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Note : (i) Answer any five questions. 

 (ii) All questions carry equal marks. 

1. (a) Describe the role of Golgi bodies in the 

protein processing of a Eukaryotic cell.  

5 

(b) Match the following : 5 

(i) Singer and 

Nicolson 

(1) Synthesis of 

lipids 

(ii) Selective 

barrier  

(2) Basic protein 
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(iii) Histones (3) Ribosomes 

(iv) Protein 

synthesis 

(4) Fluid Mosaic 

Model 

(v) Smooth 

endoplasmic 

reticulum  

(5) Cell 

membrane  

2. Differentiate between Prokaryotic and 

Eukaryotic cells. Describe them using 

suitable diagrams. 10 

3. (a) State whether the following statements 

are True or False : 5 

(i) All aldose sugars are derived from 

glyceraldehydes. 

(ii) D-Ribose is an aldose. 

(iii) D-Ribulose is an aldose. 
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(iv) Polysaccharides upon hydrolysis 

yield 2-6 monosaccharide units. 

(v) A fresh solution of D-glucose has a 

specific rotation of +52.7°. 

(b) Explain the terms anomer and 

mutarotation with reference to 

carbohydrates. 5 

4. (a) Explain the following : 5 

(i) Maltose is a reducing sugar and 

sucrose is a non-reducing  sugar. 

(ii) Cellulose is insoluble in water. 

(b) How are peptides formed ? Write the 

reaction involved taking an example. 

Also give the type of reaction in the 

formation of peptides. 5  
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5. (a) Explain the stereochemistry of amino 

acids. How is the configuration of amino 

acids assigned ? Which isomer of amino 

acids is found in proteins ? 5 

(b) Draw a schematic representation of an 

enzyme and label it with the following : 

    5 

 (i) Coenzyme 

 (ii) Apoenzyme 

 (iii) Active site 

 (iv) Holoenzyme. 

6. Write short notes on the following : 5+5 

(a) Induced fit theory of specificity 

(b) Isoenzymes 

7. (a) What is the structural classification of 

lipids ? Explain with suitable examples 

of each type. 5 
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(b) What is the Fluid  Mosaic Model ? How 

does it explain the membrane 

permeability ? 5  

8. (a) What are the physiological functions of 

gluconeogenesis ? Explain. 5 

(b) Describe in brief the TCA cycle. 

Illustrate your answer. 5 
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foKku esa Lukrd (lkekU;) (ch-,l-&lh-th-) 

l=kar ijh{kk  

twu] 2025 

ch-lh-,p-bZ-Vh-&149 % tSo v.kq 

le; % 2 ?k.Vs   vf/kdre vad % 50  

uksV % (i) fdUgha ik¡p iz'uksa ds mÙkj nhft,A 

 (ii) lHkh iz'uksa ds vad leku gSaA 

1- (d) ;wdSfj;ksfVd dksf'kdk esa xkWYth dk; dh izksVhu 

izfØ;.k esa Hkwfedk dk o.kZu dhft,A 5 

([k) fuEufyf[kr dk feyku dhft, % 5 

(i) flaxj rFkk 

fudksYlu 

(1) fyfiMksa dk 

la'ys"k.k 
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(ii) oj.kkRed vojks/k (2) {kkjdh; izksVhu 

(iii) fgLVksu (3) jkbckslkse 

(iv) izksVhu la'ys"k.k (4) rjy ekst+sd 

ekWMy 

(v) fpduh varnzO;h; 

tkfydk 

(5) dksf'kdk f>Yyh 

2- izksdSfj;ksfVd rFkk ;wdSfj;ksfVd dksf'kdkvksa ds chp varj 

Li"V dhft,A mi;qDr fp=ksa dk mi;ksx djds budk o.kZu 

dhft,A   10 

3- (d) crkb, fd fuEufyf[kr dFku lR; gSa vFkok  

vlR; %  5 

(i) lHkh ,sYMkst 'kdZjk,¡ fXyljSfYMgkbM ls izkIr 

gksrh gSaA 

(ii) D-jkbcksl ,d ,sYMkst gSA 

(iii) D-jkbcwykst ,d ,sYMkst gSA 
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(iv) ikWfylSdsjkbMksa ds ty vi?kVu ls 2&6 

eksukslSdsjkbM ;wfuV izkIr gksrs gSaA 

(v) D-Xywdkst ds rkts cuk, foy;u dk fof'k"V 

?kw.kZu  $52-7° gksrk gSA 

([k) dkcksZgkbMªsVksa ds lanHkZ esa ,suksej rFkk ifjorhZ /kzqo.k 

?kw.kZu inksa dh O;k[;k dhft,A 5 

4- (d) fuEufyf[kr dh O;k[;k dhft, % 5 

(i) ekYVkst ,d mipk;d 'kdZjk gS vkSj lqØkst 

,d vuvipk;d 'kdZjk gSA 

(ii) lsyqykst ty esa vfoys; gksrk gSA 

([k) isIVkbM fdl izdkj curs gSa \ ,d mnkgj.k ysdj 

blesa lfEefyr vfHkfØ;k fyf[k,A isIVkbMksa ds cuus 

esa lfEefyr vfHkfØ;k dk izdkj Hkh fyf[k,A 5 

5- (d) ,sehuks vEyksa ds f=foe jlk;u dh O;k[;k dhft,A 

,sehuks vEyksa dk foU;kl fdl izdkj fu/kkZfjr gksrk  
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gS \ izksVhuksa esa ,sehuks vEyksa dk dkSu&lk leko;o 

ik;k tkrk gS \ 5 

([k) ,atkbe ds ;kstukc¼ fu:i.k dk fp= cukb, vkSj 

mlesa fuEufyf[kr dks vafdr dhft, % 5 

 (i) lg,atkbe 

 (ii) ,siks,atkbe 

 (iii) lfØ; LFky  

 (iv) gksyks,atkbe 

6- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 5$5 

(d) fof'k"Vrk dk izsfjr vuq:irk dk fl¼kUr 

([k) le,atkbe 

7- (d) fyfiMksa dk lajpukRed oxhZdj.k D;k gksrk gS \ 

izR;sd izdkj dh mi;qDr mnkgj.k }kjk O;k[;k 

dhft,A  5 
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([k) rjy ekstsd ekWMy D;k gksrk gS \ f>Yyh dh 

ikjxE;rk dh ;g fdl izdkj O;k[;k djrk gS \ 5 

8- (d) Xywdksfu;kstsuksfll ds 'kjhjfØ;kRed dk;Z dkSu&ls 

gksrs gSa \ O;k[;k dhft,A 5 

([k)  TCA pØ dk la{ksi esa o.kZu dhft,A vius mÙkj 

dks fp= }kjk le>kb,A 5 

× × × × × 

 

 

 

 

 

 

 

 


